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(77.01) 41 15/7/5 29y = 0
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(77.25) 12T 25 gy = 2
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(77.45) 1401 40 20y = 4
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(77.31)
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77.01.0.024.8050/17.5 mm 5 A
77.01.8.230.8051/17.5mm 5 A
77.01.0.024.8051/17.5 mm 5 A
77.01.9.024.9125/17.5 mm 7 A
77.01.9.024.9024/17.5 mm 15 A

77.11.8.230.8250/22.5 mm 15 A
77.11.9.024.8250/22.5 mm 15 A
77.11.8.230.8251/22.5 mm 15 A
77.11.9.024.8251/22.5 mm 15 A

77.31.8.230.8050/22.5 mm 30 A
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)
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byzo (gbos b cawliio RMS (29,5 by L77-9
77.45.x.xxx.8x50

=9y wlatie
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(8650..) (8650..) (8650..) (20A/ms Sl 125= Tj )
- - - 150A/ps < 50A/ps < 50A/pis < 50A/ps < di/dt il ialidl oy
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